Two boats A and B, move so that a time t hours, their positions, in kilometres, are
given by

(2 2
Ta= (—12) ti (—4)
(11 -2
T = (—11)'”( 3 )
a) Find the position where the two boats cross
b) Show that the boats do not collide

The key to answering this question correctly is to make the assumption that they will have the
same position at some time, but that the time is not the same for the two boats.
Use t, and tg

Position of boat A: r, = ( ) + iy ( )

Position of boat B: ;. _ ( ) +tp ( )

Eliminate ¢4

tg =3
Find tg (3)

4t, = 14

ty =35

Find position of boat Aatt = 3.5

Check the position of boat Batt = 3

Hence the boats have the same position at (5, —2)
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Agetsto (5,—2) att=3.5
Bgetsto (5,—2) att=3

Hence they do not arrive at (5, —2) at the same time
The boats do not collide
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